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Void Func(int K[], int n){
int flag;
for (i=1; i<n;it+){

int flag=False;

for (j=1;j<=n-1;j++)

if (k[j+1]<k[ A1

SWAPCk[j], k[j+11);
flag=True;}
if (1flag) exit(1);
}

}
(A » 2 5 (Insertion Sort) (B) ®#¥## 5 (Selection Sort)
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(C)# 7## & (Bubble Sort) (D) - # A (Quick Sort)
Bk & B A M 5 1101011011 > 74 55585 G(X)=10011 - Al * CRC #&fs @z I3
E MM G P?
(A)11101101011010  (B) 11010110111110
(€>11010110111000 (D) 11101101011011
# 777 Visual Basic ##25* # &t >a (0 ) & a (1) 2@E&xRLR?
Dimi, j,k, s, a (10 ) As Integer
=0
For j=1 To 1000
s=0
For k=1 To j - 1
[f j Mod k=0 Then
s=stk
End If
Next
[f s=j Then
a (1)=]
=1+l
End If
Next
(A2, 26 (B4, 18 (C)5, 23 (D) 6, 28
# 77 7] Visual Basic #23% ¥ B fé > S #,SeniE 2 @ ?
Dim K As Integer
Dim S As String
S="0 "
For K=1 To 3
S=" ( "&K&" , "&S&" ) "
Next K
WD CCCL,0)>),2),H B C1, 2, 3 Y)Y CCC3, 0, 2),1) D
(3, C2, C1,0)))
3 7 7 7] Visual Basic #&;" * ffs > ¥ s hig s @ ?
Dim r ,s As Integer
r=3
Select Case r
Case 1, 3
s=r
Case 4, 6
s=r X r
Case Is>=H , Is<=0
s=0
Case 3
S=-r
End Select
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# 7™ 7] Visual Basic #23;% % B ié > #cMyVal shiEm 5 @ ?
Dim MyVal As Integer
MyVal=0
Do

MyVal=MyVal+2

Do

MyVal=MyVal+l
[f MyVal>4 Then Exit Do

Loop

[f MyVal>8 Then Exit Do
Loop
(A) 4 (B) 8 (O 11 (D) 12
# 7™ 7] Visual Basic #2;% * Fié > S#B( 5H) chim i ?
Dim K, AC 6) ,BC 6 )As Integer
AC 1 )=1:AC 2)=2 BC 1 )=1:B( 2)=2
For K=3 To 5

ACK=AK- DHAEK- 2 ) -1

B(K)=ACK) -B(K-1 )
Next K
(A0 @B 1 3D 14
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